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Note :~ Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.
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(b) From the market schedule for apples given below,
calculate price elasticity of demand if price falls

from Rs. 50 per kg. to Rs. 40 Per kg. (10,5)

Price Per kg. Quantity Demanded
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(units)
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6. Compare the price and output levels in equilibrium

of 1 firm under perfect competition and monopoly ?

(15)
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Note

Ik

:=The maximum marks printed on the question
paper are applicable for the students of the
regular colleges (Category ‘A’). These marks
will, however, be scaled up proportionately in
respect of the students of NCWEB/SOL at the
time of posting of awards for compilation of

result.
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Artempt five questions in all.

All guestions carry equal marks.
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(a) Discuss the main determinants of elasticity of

demand and supply ?
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7.

Explain beneficial externalities and negative
externalities. How do these affect the socially

desirable output levels ? (15)
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Write short notes on any Two of the following :

(a) Economic Rent
(b) Production Possibility Curve
(c) OPEC - A case study of cartel

(d) Prisoner’s dilemma {7.5,7.5)
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2. (a) Explain the law of Diminishing Marginal
Utility.

(b) Discuss the concept of consumer’s surplus. How

is it related to utility ? (1.5.7.5)
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3. Why do government often intervene in agricultural
markets ? Outline the main type of intervention and

its likely effects ? (15)
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4. (a) Draw and explain the shapes of Indifference Curve
in the following situations :—
(1) X and Y are perfect substitutes

(i) X and Y are perfect compliments
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(iii) X is a vegetable and Y is a meat and the

consumer is a strict vegetarian.

(b) Can two indifference curve intersect each

other ? (12,3)
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(a) Explain the firm’s equilibrium with the help of

isoquants and isocost line.

(b) Calculate TVC, AFC, AVC, ATC and MC from
the data given below :— (7:5,1.5)
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